Cumulative Algebra Review- Chapter 05A

Algebra 2H

All work is to be neatly shown on a separate piece of paper. Please write and box your answer, including the multiple choice answer letter. This is due the school day after the chapter test. It may be graded on both completeness and correctness.
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(A) 0.1          (B) 1.2          (C) 1.3

(D) 1.8          (E) 2.3

2. A right circular cone has height h and radius r. If the cone is cut into two pieces by a plane that passes through the midpoint of the height and is parallel to the base, then the volume of the larger of the two resulting solids is
(A) 
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3. If 
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 increase as x goes from 2 to 3?

(A) 1.43

(B) 1.37

(C) 1.00

(D) 0.74

(E) 0.06

4. 
For some real number t, the first three terms of an arithmetic sequence are 
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. What is the numerical value of the fourth term?

(A) 4

(B) 8

(C) 10

(D) 16

(E) 19

5. If 
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, then which of the following is the domain of f?

(A) 
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Written Response Question

A complete response requires the following:

· Express your thinking in words

· Label any figures you draw

· Identify any formulas used

· Make clear the source of numbers used

Full credit will not be earned if your work cannot clearly be followed. The final answer is important, but meaningless if you cannot show somebody how to get it.

----------------------------------------------------------------

The point 
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a. Determine the equation of the line tangent to the circle at 
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. Explain.
b. If the point 
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 lies on the circle 
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, show that the tangent line to the circle at that point has the equation 
[image: image23.wmf]2

axbyr

+=

.
_1421985084.unknown

_1422009488.unknown

_1422009647.unknown

_1422017691.unknown

_1422017819.unknown

_1422017839.unknown

_1422017715.unknown

_1422017804.unknown

_1422009657.unknown

_1422017662.unknown

_1422009584.unknown

_1422009603.unknown

_1422009567.unknown

_1421987281.unknown

_1421999261.unknown

_1421987224.unknown

_1421985012.unknown

_1421985063.unknown

_1421985071.unknown

_1421985047.unknown

_1420565542.unknown

_1420565570.unknown

_1420565504.unknown

